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Answers for 1.4

For use with pages 28-32
1.4 Skill Practice 6. LORT, ZQORS, ZSRT
1. Sample: 7. straight 8. acute
A
9. right 10. obtuse
11. 90°; right 12. 60°; pigfit
— Q.QOAEC
B C 13. 135° obtuse
Sample: 14. 180°; straight
h 15-20. Sample answers are given.
15. £ BCA; right
16. L CBA; acute
- - 17. £ DFB; straight
18. L CEA; obtuse
Sample
19. ZCDB; acute
H # 20. L CEB; acute
21. B 22. 99° 23. 65°
24. 101° 25, 55° 26. 135°
jul . 27. A
J K
28. LAED = L ADE = /£ ABD =
~—— —o— ——
L M N £DAB = ZBDC = £ BCD, and
2. The measure of £ PQOR is equal to LEAD = ZADB = / DBC:
the absolute value of the 34° 112°
difference between the degree | . .
- QP aaca QR 29. mZLXWY = 104°, msL ZWY = 52
3. ZABC ZB ZCBAB BA EE 30. méXWY= 136°,m4XWZ=68°
—_— — — o
5. ZLMTP, /T, / PTM: T, TM. TP mLYWZ = 35.5°
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32.

33.
35.
37.
39.

40.
42.
43.

To find m£ JKL, m/ JKM

should be doubled, not halved;

mZJKL = 60°,
J
M
30°
—
K L
38° 34. 38°
142° 36. 37°
53° 38. 37°
If a ray bisects ZAGC, then its
endpoint must be point G.
Sample:
A
P
——
G &
156° 41. 80°
134°

75°% both angle measures are
5° less.

44. Acute. Sample answer: (3, 1)

pre—

\y

A

2 |B JE .

45. Acute. Sample answer: (-2, 0)

A [T 1T Phlel]

3 —

_2 x

”

46. Obtuse. Sample answer: (0, 0)
A y

Y '

B G T ——

} ] -

47. Obtuse. Sample answer: (2,0)

\y

B
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48. 6 <x < 5]

49. 68°. Sample answer: Since

mZLVSP = 17°, the m«£ RSP =

34°. Since m£ RSP = 34°,

mZ RSQ = 68° which is equal to
mLTSQ, so mLTSQ = 68°.

50. 30°, 60°

1.4 Problem Solving

51. 32° 82. 75°

53. a. 112° b. 56°
c. 56° d. 56°

54. 90°, 90°

55. Sample answer:
acute: £LABG,
obtuse: Z ABC,
right: £ DGE,
straight: £ DGF

56. about 158°

57. about 140°

58. about 167°

59. about 62°

60. about 39°

61. about 107°

62.

. LAFB, ZBFC, £ CFD,

£DFE; ZAFD, £ BFE;
LAFC, ZLCFE

. LAFB = LEFD,

LAFC = LEFC,
£LBFC= £DFC

- mLDFE = 26°, Z DFE =

LAFB; mZBFC = 64°, it is
complementary to £ AFB:;
mZCFD = 64°, Z CFD =
LBFC,mZAFC = 90° it is a
right angle (£ AFE is a straight
angle bisected by FC.);
mLAFD = 154°, mZ AFD =
mLAFC + mZ£ CFD;
m£LBFD = 128°, m« BFD =
mZBFC + m/£ CFD.

63. Sample answer: In your pocket

dollar bills each represent l.

you have 4 pennies, 4 nickels, 4
dimes, 6 quarters, 6 dollar bills;
nickels, dimes, pennies, each

represent —, and quarters and

4

1.4 Mixed Review

64. your meal: $14.50, friend’s meal:

$10.50
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65. ray
-~
-9 -7 -5 -3 - 1

66. ray
~ Tttt
-2 0 2 4 6 8

67. segment
~ Tttt —
-4 -2 0 2 4 6

68. segment
~
-8 -6 -4 -2 0 2

69. line
ettt
-4 -2 0 2 4 6

70. line
e
-3 -2 -1 o 1 2 13

. M 72. 15

73. —12
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